DO NOW

1. [=10[+[3] 2. 3(—4) +2
[0+3 [-12+2]
[3] [~10l

[0)
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If x| = a, then....
X=a or X=-a
Procedure:
1. Get abSolud’e value alone
2. Rewrite os 2 ECbUkOCHor\S using OR
3. Solve both e%uofr{or\s

4. Check
}Sov\ne Q9 odwvxs ) natcheck in Fhe original

= reject th
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5. P3m-7]+3=8 6. 5)2x-3|-8=22

I3m-7=8-3 5|2x-3]=20+8
[3m-1/=5 5!2><‘3]:3§
3m—7—“5 or 3m—7:—5 122);—_?3]’—:_’_
= 5¢7 =
3;,]-_‘5(1 gm g+7 2%-3=b or 2x-3="b
12

Xx=6+3 2x=—(+3
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4.5 Solving Absolute Value Equations

absolute value: d(stance from 2erp

*also a grouping symbol

If |x| = 3, then...

X=23 or X=-3

To solve an absolute value equation:
*realize Yhere are 2 diferent solubions
Ls the posthive version
L Hhe Y\CSQ‘HVC version
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Practice:
I. x+3]=

X+3=9 or x+3:—q
xX=9-3 x=-9-3

l XZb or 76‘—‘|2]

3. [2x-7|=

2x-1=5 or 2x7="5

2x=5+1 2x="5¢t7]

ZX:IZ =2
Y=k x=%

(x(oor X:§
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7. |4y + 1] =5y
ol =5y or gl
[=5y -ty [=-by-~1ty
-y
T
F
' rejed
chc,c\('
[y 5y [y ]|

[5{0+1 [500 |q obﬂ\
‘L\\?l % 341\
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=2
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2. |4z| =
2=8 or Hz=-8

_8& - =8
:Z'—q Z==F

{ Z=2 or 2=

4.17-3d =

7-30=0 or [-3a=-2
~3a=2-7 “S0=2-1
e

8. [4b-2|=3b+2

Y-2=3p+2 or Qp-2=- (30 +2)

1b-23b=2  4b-2="3p-2
Up-3p=2+2  Hb-2+3b=-2
b=d Ho+3b=-2+2
Tb=0
b=5

[o=1 or b=0]




HOMEWORK

Worksheet - HW 4.5
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